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3amaua D-31.1. Axnepos Imuav
Mp, = My — kws,, My, = —pws,,

Fnz = —VUs,, 1,0 = 1.4, W1,,0 = 05%,

My =12 Hwm, k = 15 Hwmc,

v = 8xHc/m, p = 11 Hug,

I, = 15 krM?, my = 17 kT, m3 = 35 KT,

my = 27 k1, Ry = 38 cM, 1 = 27 oM,

Rs =28 cm, Ry = 20 c™m, 4 = 12 cMm, 74 = 16 cM.

Anexcees Maxcum
Mp, = My — kws,, M, = —pwy,,
My =10 Hwm, k = 11 Hwmc,
pro=1.2, w1, 0=01%,
=13 Huc, I} = 9 xrm?,
mo = 15 KT, m3 = 33 Kr,my = 25 KT,
ms =4 xr, Ry = 34 cMm, r; = 23 cMm,
Rs =24 cm, Ry =20 cm, ry = 12 cMm, 3y = 14 cu,

rs = 12 cM.

3amaua D-31.3. Apzunosa Eezenus
Mp, = My — kws_, My, = —pwa,,
Fnz = —VUs,, g01’0 = 1.2, wlz,o = 03%,

My =10 Hm, k = 13 Hwc,

v = 50Hc/m, p = 13 Huc,

I = 9 xrm?, my = 15 k1, m3 = 33 K,
my = 25 k1, R1 = 36 cMm, r; = 25 cwm,
R3s =26 cm, Ry = 12 cwm.

Bopucos Uavsa
Mp, = My — kw1, M,, = —pws,,
Fnz = —VUs,, 1,0 = 1.4, W1,,0 = 02%,
My =13 Hm, k = 12 Hwmc,
v = 8xHc/m, p = 11 Hug,
I, =19 xrm?, my = 17 k1, m3 = 35 K,
my = 27 k1, Ry = 35 cM, 1 = 24 cwm,
Rs =25 cm, Ry =20 c™m, 1y = 12 cMm, 74 = 16 cM.

! B HEKOTOPBLIX BAPHAHTAX COAEPIKATCA HE BCE HTEMEHTEL.



3amaga D-31.5.

Toprornose Anmon
Mp, = Moy — kws,, My, = —pws_,
Fp, = —vus,, 10 = 14, w1_o = 0.5,
My = 10 Hwm, k& = 15 Hwmc,
v = 15Hc/m, p = 11 Hue,
I, = 7 xrM?, mg = 17 KT, m3 = 35 KT,
my = 27 K1, R1 = 38 cM, 1 = 27 cuM,
R =28 cm, Ry =20 cm, r4 = 12 c™m, 74 = 16 cm.

Llaeman Hnea
Mp, = My — kws,, M, = —pwy,,
Fnz = —VVs5,, 1,0 = 1.4, W1,.0= 02%,
My =10 Hwm, k = 12 Hwc,
v = 25Hc /M, p = 11 Hwc,
I, = 7 xrm?, mg = 17 k1, m3 = 35 K,
my = 27 xr, R = 35 c™m, 11 = 24 cwm,
Rs =25cm, Ry =20 cm, ry = 12 cM, 34 = 16 cM.

Hszadesun Amumpud
Mp, = My — kw1, M,, = —pws,,
My =11 Hwm, k = 13 Hwc,
P10 =12, w1, 0= 0.3,
p =13 Hume, I} = 11 xrm?,
mo = 15 k1, mg = 33 kr,my = 25 KT,
ms = 50 k1, R1 = 36 cMm, 1 = 25 cwm,
R3s =26 cm, Ry =20 cm, ry = 12 e, iy = 14 cm,
Ts = 16 cwm.

E¢umos Bacusudi
Mp, = My — kws,, M, = —pwy,,
My =12 Hwm, k = 15 Huwuc,
@10 =15, wi, o= 0.51,
=10 Huc, I) = 13 xrm?,
mo = 18 K1, m3 = 36 kr,my = 28 KT,
ms = 6 xr, Ry = 38 cMm, r; = 27 cMm,
R3s =28 cm, Ry = 20 c™m, 4 = 12 cM, iy = 17 cM,
rs = 11 cm.

Caseaves Huxuma
Mp, = My — kws,, M, = —pwy,,
Fn, = —vvs,, ¢10 =13, wy, o = 0.5,
My =10 Hwm, k = 15 Hwmc,
v = 8xHc/m, p = 13 Hug,
L =9 KI‘M2, mo = 16 KT, m3 = 34 Kr,
my = 26 k1, R1 = 38 cM, 1 = 27 oM,
Rs =28 cm, Ry =20 cm, 4y = 12 cMm, 34 = 15 cM.




3amaga D-31.10.

3azxapos Anexcel
Mp, = Moy — kws,, My, = —pws_,
Fp, = —vus,, 10 = 14, w1_o = 0.27,
My =12 Hwm, k = 12 Huwuc,
v = 8kHc/m, pu = 12 Hwuc,
I = 15 xrM?, mo = 17 k1, m3 = 35 KT,
my = 27 K1, R1 = 35 cM, 1 = 24 cwM,
R3 =25cm, Ry =20 cm, r4 =12 cMm, 74 = 16 cm.

Soaomwix JImumputi
Mp, = My — kws,, M, = —pwy,,
My = 12Hwm, k = 14Hwmc,
pro =14, w1, 0 = 0.4¢,
= 12Hwmc, I; = 15 xkrm?,
meo = 17 K1, m3 = 35 Kr, my = 27 KT,
ms =7 kr, Ry = 37 cm, 71 = 26 cm,
Rs =27cm, Ry =20 cm, ry = 12 cM, 34 = 16 cM.

Bondapenxo Hapvs
Mp, = My — kws,, My, = —pws,,
My = 9Hwm, k& = 11Hwmc,
@10 =13, wi, 0 =011,
p = 13Hwmc, I; = 6 xrm?,
mgo = 16 k1, m3 = 34 xr, my = 26 KT,
ms =4 xr, R =34 cMm, r; = 23 cMm,
Rs=24cm, Ry =20 cm, ry = 12 cm, 44 = 15 cm.

3abauyvin Jaruua
Mp, = My — kws,, My, = —pws_,
Fp, = —vs,, p10 = 1.4, w1, 0 = 0.24,
My =12 Hwm, k = 12 Huwuc,
v = 15Hc/m, p = 12 Huc,
I, = 15 krM?, mo = 17 k1, m3 = 35 KT,
my = 27 k1, Ry = 35 cM, 1 = 24 cwm,
Ry =25¢cm, Ry =20 cm, 1y = 12 e, iy = 16 cMm.

Kuprozun Anmon
Mp, = My — kws,, M, = —pwy,,
My = 8 Hm, k = 14 Hwgc,
Y10 = 1.1, Wwi,0= 04%,
p =15 Hume, I = 5 xkrm?,
meo = 14 k1, m3 = 32 xr,my = 24 k1,
ms = 30 xr, Ry = 37 c™m, r; = 26 cwm,
R3s =27 cm, Ry = 20 c™m, 4 = 12 cMm, iy = 13 cm,
rs = 16 cM.

Mamonos Bozdan
Mp, = Moy — kws,, My, = —pws_,
Fp, = —vs,, p10 = 1.2, w1, 0 = 0.24,
My =9 Hwm, k = 12 Huwc,
v = 50Hc/m, u = 13 Huc,
I, = 7 xrm?, mo = 15 kr, m3 = 33 xr,
my =25 k1, R =35 cMm, r; = 24 cwm,
Rs =25 cm, Ry =20 c™m, 1y = 12 cMm, 44 = 14 cM.




Moundapeesa Mapus
Mp, = My — kws,, M, = —pwy,,
My = 13Hwm, k = 13Hwmc,
pr0=1.5, w1, 0= 0.3¢,
= 11Hwmc, I; = 18 xrm?,
meo = 18 K1, m3 = 36 k1, my = 28 KT,
ms = 8 xr, Ry = 36 cMm, r; = 25 cMm,
Rs =26 cm, Ry =20 c™m, 1y = 12 cMm, 44 = 17 cM.

Moposos Maxcum

Mp, = My — kwy,, M, = —pwy,,

Y10 = 1.3, Wwi,0= 01%,

My =12 Hwm, k = 11 Hwc,

p =12 Hwc,

I1 = 15 xrm?, mg = 16 k1, m3 = 34 K,

my = 26 K1, 1 = 34 cM, 1 = 23 oM,
Rs=24cm, Ry =20 cm, ry = 12 cm, 44 = 15 cm.

Mypywrun Cepeeti
Mp, = My — kw1, M, = —pws,,
My =11 Hwm, k = 15 Hwmc,
¢1,0 =12, wy, o =052,
=14 Huc, I) = 11 xrm?,
mo = 15 KT, m3 = 33 Kr,my = 25 KT,
ms = 60 k1, Ry = 38 cM, 1 = 27 cwM,
Ry =28 cm, Ry =20 cm, ry = 12 e, iy = 14 oM,
Ts = 16 cm.

Obnosaernviti Muzaua
Mp, = My — kws,, M, = —pwy,,
My =9 Hwm, £ = 15 Hwgc,
¢10 =11, wy, o= 0.51,
p =14 Huc, I} = 6 xrm?,
mgo = 14 k1, m3 = 32 xr,my4 = 24 KT,
ms = 30 k1, R = 38 cM, 1 = 27 cM,
R3s =28 cm, Ry = 20 c™m, 4 = 12 cM, iy = 13 e,
rs = 16 cM.

Cyamuieos Aau
Mp, = Moy — kws,, My, = —pws_,
Fp, = —vus,, 10 = 14, w1_o = 0.22,
My =12 Hwm, k = 12 Huwuc,
v = 15Hc¢/m, 1 = 12 Huc,
I = 15 krM?, mo = 17 k1, m3 = 35 KT,
my = 27 K1, R1 = 35 cM, 1 = 24 cwM,
Rs=25¢cm, Ry =20 cm, ry = 12 cm, 44 = 16 cMm.




3amaua D-31.21.

F, 5,

>

N3

Cyproe Bauecaas
Mp, = Moy — kws,, My, = —pws_,
Fp, = —vus,, p10 = L1, wi_ o = 047,
My =7 Hwm, k = 14 Hwgc,
v = 55Hc¢/m, 1 = 14 Huc,
I) = 4 xkrM?, mo = 14 kT, m3 = 32 KT,
my = 24 k1, Ry = 37 cM, 1 = 26 oM,
Ry =27cm, Ry =20 cm, rg =12 cvm, 734 = 13 cm.

3agaua D-31.22.

F, 5, /
Sy =

Cycaos Haruuna
Mp, = My — kws,, M, = —pwy,,
Fnz = —VVs5,, 1,0 = 1.1, W1,.0= 01%,
My =7 Hm, k = 11 Humc,
v = 40Hc/m, p = 15 Huwc,
I, = 4 xrm?, my = 14 k1, m3 = 32 Kr,
my =24 xr, R = 34 cm, 11 = 23 cwm,
Rs=24cm, R4y =20 cm, ry = 12 ey, 3y = 13 M.

Cacuxosa Baaepus

Mp, = My — kwy,, M, = —pwy,,

My = 13Hwm, k = 13Hwmc,

©1,0 = 14, W1,,0 = 03%,

= 11Hwmce, I; = 19 xkrm?,

mo = 17 K1, m3 = 35 Kr, my = 27 KT,

ms =7 xr, R = 36 cMm, r; = 25 cMm,

Rs =26 cm, Ry =20 cm, ry = 12 cM, 44 = 16 cM.

@andees Aaexcedi
Mp, = My — kws,, M, = —pwy,,
Fn, = —vus,, 10 = 1.4, wy_ o = 0.2,
My =11 Hm, k = 12 Hwc,
v = 8xHc/m, p = 11 Hug,
I, = 11 xrm?, my = 17 k1, m3 = 35 K,
my = 27 k1, Ry = 35 cM, 1 = 24 cwm,
Ry =25¢cm, Ry =20 cwm, 1y = 12 e, iy = 16 cMm.

Iynenxos Amumpudi

Mp, = My — kws,, M,,, = —pwy,,

Y10 = 1.5, Wwi,0= 0.3%,

My =13 Hm, k = 13 Huwc,

© =10 Hwmc,

I, = 18 xrm?, my = 18 k1, m3 = 36 K,

my = 28 k1, Ry = 36 cM, 1 = 25 cwM,
Rs=26cm, Ry =20 cm, ry =12 cm, 4y = 17 M.




3amaga D-31.26.

Yeunesa Hamaava

Mp, = My — kws,, My, = —pws_,

@10 =14, wi, o= 0.5,

My = 10 Hwm, k = 15 Hwmc,

p =12 Hwmc,

I, = 7 xrM?, mg = 17 KT, m3 = 35 KT,

my = 27 K1, R1 = 38 cM, 1 = 27 cuM,

R3 =28 cm, Ry =20 cm, r4 = 12 c™m, 74 = 16 cm.

Yuotcosa Asnercandpa
Mp, = Moy — kws,, My, = —pws_,
My = 9Hwm, k£ = 11Hwc,
Y10 = 1.3, wi,0= 01%,
p = 13Hwmc, I; = 6 xrm?,
mgo = 16 KT, m3 = 34 xr, my = 26 KT,
ms =4 kr, R =34 cm, 1 = 23 cm,
Rs =24 cm, Ry =20 cm, ry = 12 ey, 34 = 15 cM.

Hlaporosa Hapos
Mp, = My — kws,, M, = —pwy,,
F,, = —vvs,, 10 = 1.3, wi_o = 0.5,
My = 10 Hwm, k& = 15 Hwmc,
v = 30Hc/m, u = 12 Huc,
I = 9 krm?, mg = 16 k1, m3 = 34 T,
my = 26 K1, 1 = 38 cM, 1 = 27 cuM,
Rs =28 cm, Ry =20 cm, ry = 12 e, 44 = 15 cm.

Howenxo Apcenmudi

Mp, = My — kw1, M,, = —pwy,,

My = 10Hwm, k = 11Hwmc,

Y10 = 1.1, Wwi,0= 01%,

p = 14Hwmc, I; = 7 xrm?,

meo = 14 k1, m3 = 32 xr, my = 24 KT,

ms = 4 KT, R1 =34 CM, 1] = 23 CM,
Rs=24cm, Ry =20cm, ry =12 cm, 4y = 13 cm.




